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Q. No. 1 carries 1 mark each 1x12 = 12
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Q. No. 24 - 27 carry 6 marks eaclt 6x4 = 24
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1.  Give very short answers :

1x12=12

s 55 e fia 3
(1) What is the ideal of Logic ?
SHRIEENT e (2
(b) Is the conclusion of Analogy certain ?
AR e WRes Za e
() Give an example of Unscientific Induction.
@I ST @t Swrzae
(d) On which Law is the Quantitative mark of a cause based ?
PRI sAfRre T [ T esive dfoRe?
() What was the hypothesis with the help of which the ‘Law of
Gravitation’ discovered ?
& aPlR o TS NGIFF e 'y wiRks w1 2l
(/) What is the meaning of the Greek word ‘Ethos’ ?
M *=7 ‘Ethos’y oY /2
(g9 What, according to Indian Philosophy, is the Supreme and Ultimate
end of human life ?
SR W ST WA GRS I T Al i R o
()  Write the name of the Inductive Method which enables us to proceed
from cause to effect and effect to cause.
P SN I A I wA1 w1 eF R o431 SR 1w Rocsr T By |
(i) Give an example of Secondary Quality.
(Mo wo @t Swred firait |
() Is Ethics a positive science ?
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(k) Who has defined religion in terms of value ?
TR 6T o1t «elq el @i feze

()  Which theory of Truth does Naive Realism support ?
e BRI TOPOR (FINCO! T AL IR ?

2. Give an example of Good Analogy.

SIS 51 Swisel faw |

3.  What is "Hypothesis concerning Agent’ ?
O RITT o IS (@2
4. Give an example of ‘Plurality of causes’.
A FIREW'T O Tz |
Or/ 7zat
What do you mean by ‘Conjunction of causes’ ?
‘TR TRY JFA [ @2

5.  Explain the moral condition of observation.

AT (AT Ot I 9 |
Or/ Az

State two advantages of simple observation.

Sge1 RerFIR 77 kel S 4|

Give a concrete example of the Joint Method of Agreement and Difference.

6.
2
R o) RO ST o1 AT Tz it
7. Mention any fwo characteristics of Scientific Realism. 2
Al ARAmE A 75 e e
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8. What do you mean by ‘moral obligation’ ?
‘wies Ao e [ e
Or/ 933

What is voluntary action ? J 2

otz &gl I Q@IE?

9. Give a concrete example of Inverse variation. 2

RoioYR) TRARTER <ot ABT Tz T
10. Why is the idealism of Leibnitz called ‘Pluralistic Idealism’ ? 2
Or/ 77

‘Esse Est Percipi’ — What is the meaning of this statement ? 2

oy oo oY — @3 IR oY &2

11. State two characteristics of Primary Quality. 2

31y wog ghy &REy
12. What is ‘Working Hypothesis ? 5
‘PS4 (2
Or/ 73

What do you mean by “Vera Cause’ ? 5

ST R’ I | @i

13. Why is habitual action considered as an object of morg] jud (7
e gement ?
2
ST e e mmﬂﬁﬂw@%ﬂww@?
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Or/

What is the meaning of ‘intention’ in Ethics ?

NeRme ey ad e

What is induction ? State two differences between deduction and

14.
2+2=4

induction.

S FIP QI 2 [ O el Mo 757 2N SEd 7
Or/ &3t

Write any four characteristics of Unscientific Induction. 4

SRSl SN R st @

15. State the advantages of Experiment.
AfreE R R B 4|
Or/ &t
What, according to Aristotle, are the different kinds of cause ? — Discuss

briefly. 4
4R TeR WO IRAT AR (20! F T2 — SYF WG 71 |

Write any four characteristics of Naive Realism.

sE AR [P sy @Ry |

16.

Explain briefly the nature of ‘Monad’ as depicted by Leibnitz.
AR I PR ' APl HE I F
Or/ A

What is the essence of Berkeley’s Subjective Idealism ?

17.

FERR TS SRR T I 2
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18.

19.

20.

21.

Write a brief note on non-moral action. 4

S-S ferT esige 9ol 5 (Gt foal|

What is ‘Crucial instance’ ? Give an example of crucial instance obtained
by experiment. 2+2=4

5 7RIS 52 AKIwIeTR b FOI <Ot B fi

Write any four definitions of Religion. ' 4
wifq R oifeer ket Bt

Or/ A&t
Write four characteristics of Religion. 4
wfe o1RG! ARy o
What is ‘Practical imperfection’ of the Method of Agreement ? 4
AR AT TR sedfer &

Or/ A
Mention fwo advantages and two disadvantages of the Method of
Difference. 24+2=4

TR e 75 R I 75 TP S 4

‘Idealism is best expressed in Hegel's Objective Idealism.” — Explain
briefly. , 4
 ErIFTE TS ORI TS SRANA <4 e TR — Sats i <

Distinguish between religion and morality. s
o T tfeTer Tew wArfey [ )

Or/ AZar
‘Morality is the source of religion” — Discuss the view. .

‘hﬁoﬂ?@ﬁ@%@m’——«ﬁm\o SQCETHA 9 |
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24.

25.

26.

27.

What is Scientific Induction ? Mention the characteristics of Scientific

Induction. 2+4=6
WEE S FIF QT2 TR WMol [@RS g S s |

Or/ 7%t
Define Analogy with an example. Mention its characteristics. 3+3=6

ﬂﬁ@mﬂmwmﬂmwmﬁmm&ﬁawﬂaaﬁqWWW|

Write a note on ‘Paradox of Induction’. 6

“SseR RIgren’s eoge aft Gisl 2|
Or/ ¥i23t

What do you mean by Experiment ? Describe its characteristics.
1+5=6

Qe I & @ e A9 WY R e 59

What are the stages of Hypothesis ? — Explain with examples. 6
oRHE T (I20! & 52 Swizael w17 il =411
Or/ 723

What are the conditions of a legitimate or valid hypothesis ? Explain any
two of them. | 2+4=6
(R4 o459 56 R & T2 (94 2ws@ Reden 1o 59 i 4 |

Define the Method of Agreement with concrete examples. State two
advantages of this method. 2+2+2=6

B3 CHIZRT e SIRA] oS el Al | @3 edeTid g5t Rt S w4
Or/ 24t

Define the Method of Residues with examples. State two disadvantages of
this method. 2+2+2=6

Wqﬁmﬁmﬁﬁm@ﬁmm&mﬁa 7 oppRel S 91
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24,

25.

26.

27.

What is Scientific Induction ? Mention the characteristics of Scientific

Induction. 2+4=6
WSEIRT ST T QT ? @RS AT ([ Tz Sz 34 |

Or/ aiZar
Define Analogy with an example. Mention its characteristics. 3+3=6
<51 TRl R AU et | 2R SR T R S 41|
Write a note on ‘Paradox of Induction’. 6
“SeT REIGerT's 8o @ft (Rl foat |

Or/ 723y
What do you mean by Experiment ? Describe its characteristics.

1+5=6

syt IR & @l AR @G g S 9 |
What are the stages of Hypothesis ? — Explain with examples. 6
2T BT (I 15 52 Sl g iyt 4|

Or/ #gd
What are the conditions of a legitimate or valid hypothesis ? Explain any
two of them. 2+4=6
R4 45 5% T [ [ (@Y e [ 707 56 A 314 |
Define the Method of Agreement with concrete examples. State two
advantages of this method. 2+2+2=6
(@ BHITEOR (IS SRl ATy SiRee Al | ¥ el 757 ik S

Or/ Iz
Define the Method of Residues with examples. State two disadvantages of
this m ethod. 2+2+2=6
— AR 2IRTIR TREI | @7 el 75y eepikel Semd 4

X
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